Epyaotipio 3 - ATTQVTACEIG

1= Log[3, 6561]

out[1]= 8

In[2]:= ‘\’ Abs [— 9 x2]

out2l= 3 Abs [x]
inf3l= Abs[4 -21]

out[g)= 21/ 5

In[4]:=

Out[4]=

5= b = e\/:
Out[5]= e\/;

Ine}:= a+b
Out[6]= e\ﬁ +

In[7]:= N[%]

out[7]= 6.78874

ngl:= Clear[a]

Sin[a * x]
In[9]:= j— dx

Cos[a » x]3

Sec[ax]?
ou[9gp ———
2a
2-x
3+x
In[10]:= Simplify[
2-x
2-x
3+x
Out[10]=
2 -x

1= FullSimplify[%]

1

out[11]=
3+x

(2= Simplify[Log[x - x*| - Log[x] ]

ouf12]= -Log[x] +Log[- (-1 +x) x]
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In[13]:= FullSimplify [%]

out[13]= Log [l - x]

In[14]:= D[ V x+ '\/; , x]
1

1+

2%

2\/\/;+x

In[15;:= D[%, x]

. 2
1+ )
2vx
out[15]= - -

3/2
4 (\/x +x) 8 x3/2\/x +x

In[16]:= D[\/x+\/; , {x, 2}]
2

out[14]=

1

1
1+
2 \5) 1
out[16]= - -

3/2
4 (\/x +x) 8 x3/2/x +x

In[17]:= Simplify[%]
-3-6Vx -4x

16 (l+\/;) x3/2 \l\/;er

In[18]:= FullSimplify [%]

\/\/;+x (3+6\/;+4x)

16 <x+x3/2>2

out[17]=

out[18]= -

x2-5x+6
In[19]:= Simplify[ ]
x-3

out[19]= -2 + X

2 Sin[a] - Sin[2 a]

In[20]:= Simplify[ ]
2 Sin[a] +Sin[2 a]
a.2
Oout[20]= Tan[f]
2

4 Cos[a]?

]

n21):= Simplify
) [cot[;]_Tan[;]

out21]= Sin[2 a]

In22]:= Clear[b]

In23}= Simplify[Sin[a +b]?+Cos[a-b]?-1]

out[23]= Sin[2 a] Sin[2Db]

In[24]:= Simplify[Sin[a]2 +Sin[b] 2, Sin[c] 2, Sin[a +b +c] 2. 2]
out[24]= -2 Cos[a+Db] Cos[a+c] Cos[b+c]

In[25]:= Simplify[x3—3x2y+3x*y2—y3+3x2z—6x*y*z+3y2z+3x*zz—3y*z2+z3]

oues= (x-y+z)?



